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EDR : FOaK L 200 g 81 64 | Hr= = B 5 ke 2,376 1,728
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FhE = R 150 g 118 |. 108 | JJREA FOagK L 7.5 ke 3, 240 1,188
L AEL = B 200 g 162 108 | EM& - £ B 350 g 518 356
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EWNT A HF & 10 ke 1, 620 1,188 | 77—/ A Ay & 8 ke 5, 400 =
BEEECA T A bvgE 10 ke 1,728 1, 296 |
IE<EW £ B 15 ke 1, 944 972
Fp XY iE S 10 ke 1, 620 864
L&A K 10 ke 1,728 648
R B 5 ke 2, 376 —
72 = B 5 ke 2, 376 1,728
<k = OIE 4 ke 2, 808 —
e E 150 g | 118 91
Lo AbEiE 10 ke 1,728 1, 080
mEhE JrigE 20 ke| - 1,836 1, 620
ALY (i) 100 g 172 88
FomiF i .1 ke| 17,280 7, 560
Lol £ % 100 g 54 37
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7Y 1 ke 2, 268 3718 | #T = =8 1 ke 1, 836 1, 296
WA 1 ke 1, 404 345 | AH i 1 ke 1,512 1, 080
AT 1ke 432 162 || FU A E E 1 ke 3, 240 - 1,188
AJVAA T 1 kg 864 540 | BTV = bEE 1 194 54
AENTT - lke 1, 242 216 |
e 1 kg 972 540
&% o 1 kg 2, 160 540
NE 1 ke 1,944 324
M, " 1ke 1, 080 540
7 % 1 ke 4,320 1,296
e 1 ke 1,296 216
1 ke 810




